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Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635097339, 1
64635097340, 2

645350972341, 3
645350397342, 4

Question Number : 1 Question Id : 64635024801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535097339, 1
64535037340, 2
483503973241, =2
64535097242, 4

Question Number : 2 Question Id : 64635024802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535097342, 1
EAE35037344. 2
E4E350972345. 3
BAE350972346. 4
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Correct Marks: 2 WrongMarks: 0
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64535097243, 1
645350397344, 2
64535097345, 3
EAEZ503734E6. 4

Question Number : 3 Question Id : 64635024803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

64535097347, 1
64535097348, 2
E4E35037349. 3
E4E350372350. 4

Question Number : 3 Question Id : 64635024803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BAE350972347. 1
645350397348, 2
64535097349, 3
E4E35037350. 4

Question Number : 4 Question Id : 64635024804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

46350972351, 1
64535097352 2
64535037353 2
64535037354 4

Question Number : 4 Question Id : 64635024804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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CAEZE097 251,
64635097352,

E4E35097353.
BA535097354,
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Question Number : 5 Question Id : 64635024805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

64535097355, 1
645350397356, 2
E4E35037357. 3
EAE35037 358, 4

Question Number : 5 Question Id : 64635024805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535097355, 1
64535037356, 2
4835097357 2
45350973258 4

Question Number : 6 Question Id : 64635024806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

645350973559, 1
64535037360, 2
64535097361, 3
E4535097362. 4

Question Number : 6 Question Id : 64635024806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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645350973559, 1
64535037360, 2
64535097361, 3
EAEZ5037362. 4

Question Number : 7 Question Id : 64635024807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350397363, 1
64535097364, 2
EAE35037 365, 3
EAE35097366. 4

Question Number : 7 Question Id : 64635024807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B4E350972363. 1
645350972364, 2
645350397365, 3
E453509736E. 4

Question Number : 8 Question Id : 64635024808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535097367, 1
EAE35037 368, 2
E4E35097269. 3
BAE350972370. 4

Question Number : 8 Question Id : 64635024808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35097367. 1
645350972368, 2
B4E5350373645. 3
64535037370, 4

Question Number : 9 Question Id : 64635024809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

45350972371, 1
4535097372 2
64535037373 2
64535037374, 4

Question Number : 9 Question Id : 64635024809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B4E535097371. 1
64535097372 2
64535097373, 3
EAE35037374. 4

Question Number : 10 Question Id : 64635024810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

645350973751
64535037376, 2
E4E35097377. 3
EAE35037378. 4

Question Number : 10 Question Id : 64635024810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535097375 1
64535097276, 2
4535097377, o
64535037378, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501223
Question Shuffling Allowed : Yes

Question Id : 64635024811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635024812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35097375. 1
EAE35037380. 2
E4E350972381. 3
BAE3509738%. 4

Question Number : 12 Question Id : 64635024813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350397383, 1
E4E35037384. 2
EAE35037 385, 3
EAE350972386. 4

Question Number : 13 Question Id : 64635024814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535097387, 1
64535097388, 2
64535037389, 2
64535037390, 4

Question Number : 14 Question Id : 64635024815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35097391. 1
EAE35037392. 2
64535097383, 3
64535097394, 4

Question Number : 15 Question Id : 64635024816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535097395, 1
E4E35037396. 2
64535097297, 5
64535097298, 4
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Sub questions

Question Number : 11 Question Id : 64635024812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097379,
64535097380,
64835097381,
E4E35097382.
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Question Number : 12 Question Id : 64635024813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097383, 1
4835097384 2
4535097285 2
64535097386, 4

Question Number : 13 Question Id : 64635024814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535097387, 1
64535097388, 2
64535037389, 2
64535037390, 4

Question Number : 14 Question Id : 64635024815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35097391. 1
EAE35037392. 2
64535097383, 3
64535097394, 4

Question Number : 15 Question Id : 64635024816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535097395, 1
64535097296, 2
64535097397, 5
64535037398, 4

Sub-Section Number: 3
Sub-Section Id: 6463501224
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635024817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535097399, 1
E4E35037400. 2
E4E35037401. 3
BAE3509740%2. 4

Question Number : 16 Question Id : 64635024817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535097299, 1
4835097400, 2
4535097401, 2
64535097402, 4

Question Number : 17 Question Id : 64635024818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
64535037403 1

E4E35037404. 2
E4E35037405. 3
EAE35097406. 4

Question Number : 17 Question Id : 64635024818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E2509740=. 1

E4E35037404. 2
E4535097405. 3
BAE35037406. 4



Question Number : 18 Question Id : 64635024819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635097407 1
E4E35097408. 2
E4E25097409. 2
4235097410, 4

Question Number : 18 Question Id : 64635024819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097407, 1
E4E35097408. 2
64535097409, 5
64535097410 4

Question Number : 19 Question Id : 64635024820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
64535097411, 1

EAE35097412. 2
E4E35037413. 3
BAE535097414. 4

Question Number : 19 Question Id : 64635024820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35097411. 1
BAE35097412 2
64535097413, 3
64535097414, 4

Question Number : 20 Question Id : 64635024821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535097415, 1
645350397416, 2
64535097417, 3
EAE35037415. 4



Question Number : 20 Question Id : 64635024821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535097415, 1
E4E3503741E. 2
EAE35037417. 3
64535097418, 4

Question Number : 21 Question Id : 64635024822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

64535097415, 1
645350397420, 2
645350397421, 3
EABE35097422. 4

Question Number : 21 Question Id : 64635024822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535097419, 1
E4E35097420. 2
B4E35097421. 3
BAE35097422. 4



Question Number : 22 Question Id : 64635024823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

B4E35097423. 1
6435097424, 2
64535097425, 3
E4E3509742E. 4

Question Number : 22 Question Id : 64635024823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535097423, 1
64535037424 2
4835097425 =2
4535097426, 4

Question Number : 23 Question Id : 64635024824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

645350397427, 1
E4E35037428. 2
EAE35097429. 3



EAE35037430. 4

Question Number : 23 Question Id : 64635024824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

645350397427, 1
64535097428, 2
E4E35037429. 3
EAE35097430. 4

Question Number : 24 Question Id : 64635024825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535097421, 1
64535097432, 2
E4E35037433. 3
EAE35037424. 4

Question Number : 24 Question Id : 64635024825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535097431 1

E4E25037432. 2

E4E250374533 3

64535037434 4

Question Number : 25 Question Id : 64635024826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350397435, 1
EAE35037436. 2
EAE35037437. 3
EAE350397438. 4

Question Number : 25 Question Id : 64635024826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535097435, 1
64535037436, 2
64535037437, 2
E4E350397428. 4

Question Number : 26 Question Id : 64635024827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35097439. 1
64535097440, 2
64535097441, 3
645350397442, 4

Question Number : 26 Question Id : 64635024827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535097439, 1
E4E35097440. 2
4535097441 =2
64535097442, 4

Question Number : 27 Question Id : 64635024828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535097443, 1
E4E35097444 2
64535097445 5
64535097446, 4



Question Number : 27 Question Id : 64635024828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
E4E35097443 1

E4E35037444, 2
E4E35097445. 3
BAE3509744E. 4

Question Number : 28 Question Id : 64635024829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

EAE35097447. 1
64535097448, 2
645350397449, 3
645350397450, 4

Question Number : 28 Question Id : 64635024829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Diel 2| BH T | wed el A 27

(1) ™

@ =
(3) ferdia
CV

Options:

64835097447, 1
4535097448 2
64535097449, 5
64535097450 4

Question Number : 29 Question Id : 64635024830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35097451. 1
BAE35097452. 2
64535097453, 3
645350397454, 4

Question Number : 29 Question Id : 64635024830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
g2 Td @l WHT |rar 20,
4 |1 THHE & 20 |
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
64235097451, 1

EAE35037452. 2
64535097453, 3
64535097454, 4

Question Number : 30 Question Id : 64635024831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350397455, 1
E4E35037456. 2
EAE35037457. 3
E4E350397458. 4

Question Number : 30 Question Id : 64635024831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535097455, 1
645350397456, 2
64535097457, 3
E4E35037458. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501225
Question Shuffling Allowed : Yes

Question Id : 64635024832 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635024833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

B4535097459. 1
64535037460, 2



EAE35037461. 3
BAE35097462. 4

Question Number : 32 Question Id : 64635024834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35097463. 1
64535097464, 2
645350397465, 3
E453509746E. 4

Question Number : 33 Question Id : 64635024835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

64535097467, 1
645350397468, 2
64535097469, 3
EAEZ5037470. 4

Question Number : 34 Question Id : 64635024836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

645350974711
E4E35097472. 2
EAE35037473. 3
EAE35037474. 4

Question Number : 35 Question Id : 64635024837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835097475, 1
E4E35097476. 2
64535097477, o
64535097478, 4

Question Id : 64635024832 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635024833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535097459, 1
64535037460, 2
64535037461, =
E4E35097462. 4

Question Number : 32 Question Id : 64635024834 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535097463, 1
4535097464, 2
64535097465, 5
64535097466, 4

Question Number : 33 Question Id : 64635024835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535097467, 1
4835097468, 2
4535097469 2
64535097470, 4

Question Number : 34 Question Id : 64635024836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535097471, 1
64535037472 2
4835097472 2
4535097474 4

Question Number : 35 Question Id : 64635024837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64635097475, 1
64535037476, 2
64535037477, 2
E4E350397478. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501226
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635024838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635097479, 1

E4E35037480. 2
EAE35037481. 3



EAE35037482. 4

Question Number : 36 Question Id : 64635024838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4E2E09747 9.

EAEZ5037480,
EAE35097451.
BAE35097452.

[ N

Question Number : 37 Question Id : 64635024839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35097483. 1
64535097484, 2
64535097485, 3
645350397456, 4

Question Number : 37 Question Id : 64635024839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s EEz (TB) #49i) fFras qam 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4E25097482. 1

EAE35037484. 2
E4E35097485. 3
BAE35037486. 4

Question Number : 38 Question Id : 64635024840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35097487. 1
64535097488, 2
64535097485, 3
645350397430, 4

Question Number : 38 Question Id : 64635024840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097487, 1
4835097488 2
4535097489 2
64535027490, 4

Question Number : 39 Question Id : 64635024841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503974391, 1
64535097432, 2
E4E35037433. 3
EAE350974594. 4

Question Number : 39 Question Id : 64635024841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4635097491, 1
64535097492, 2
64535037493 =
64535037494 4

Question Number : 40 Question Id : 64635024842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E35097455. 1
EAE350374396. 2
EAE35097457. 3



EAE350374395. 4

Question Number : 40 Question Id : 64635024842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535097495, 1
64535037496, 2
64535037497, 2
E4E35097498. 4

Question Number : 41 Question Id : 64635024843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

645350974559, 1
64535037500, 2
645350397501, 3
EAE3503750Z. 4

Question Number : 41 Question Id : 64635024843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

64535097499, 1
64535097500, 2
64535037501, =
64535037502, 4

Question Number : 42 Question Id : 64635024844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

4535097503 1
64535027504, 2
64535037505 =
64535037506, 4

Question Number : 42 Question Id : 64635024844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535097503, 1
4835097504, 2
4535097505 2
64535097506, 4

Question Number : 43 Question Id : 64635024845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

B4E350397507. 1
64535037508, 2
645350397509, 3
64535097510, 4

Question Number : 43 Question Id : 64635024845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535097507, 1
64535097508, 2
64535037509, =
64535037510 4

Question Number : 44 Question Id : 64635024846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35097511. 1
EAE35037512. 2
E4E35097513. 3
64535097514, 4

Question Number : 44 Question Id : 64635024846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635097511, 1
64535037512 2
64535037513 2
4835097514 4

Question Number : 45 Question Id : 64635024847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64635097515, 1
48350397516, 2
64535097517, 5
64535097518, 4

Question Number : 45 Question Id : 64635024847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64635097515, 1
48350397516, 2
64535097517, 5
64535097518, 4

Question Number : 46 Question Id : 64635024848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535097519, 1
EAE35097520. 2
B4E35097521. 3
BAE35097522. 4



Question Number : 46 Question Id : 64635024848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
E4E250975159. 1

EAE35097520. 2
B4E35097521. 3
BAE35097522. 4

Question Number : 47 Question Id : 64635024849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535097522, 1
EAE35037524. 2
EAE350397525. 3
BAE35097526. 4

Question Number : 47 Question Id : 64635024849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

B4E535097523. 1
64535097524, 2
645350397525, 3
EABE3503752E6. 4

Question Number : 48 Question Id : 64635024850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
646350975271
64635097525, 2

64535097529, 3
645350397530, 4

Question Number : 48 Question Id : 64635024850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4EI5037527.

EAE35037 528,
EAE350397529.
EAE35097530.

[ N

Question Number : 49 Question Id : 64635024851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535097531, 1
64535037532 2
648350975322 2
4535097524 4



Question Number : 49 Question Id : 64635024851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635097531, 1
64535097532 2
64535037533 2
64535037534 4

Question Number : 50 Question Id : 64635024852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E35037535. 1
EAE35037536. 2
BAE35097537. 3
64535097538, 4

Question Number : 50 Question Id : 64635024852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefefiga | o ®9-o1 o gaq o = 9y w1 3 sarefEa w27

(1)  wrefae SEIEH] 6 ~gHad 3T

(2)  WrHaH SEIEA] F AT T F o 3w

@)  wrhfae GEEHl =R I Sl w3 s i difei % kg 3reed 7
(4) A wHfaw qEeAT B wis sl fifedl % fav adEe s

Options:

64535097535, 1
4835097536 2
E4E35097527. 2
64535097528, 4

PART Il Cornparative Study of Religions

Section Id : 646350500
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 6463501227
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635024853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The word “Theo’ has come from the language of :

1. Latin

2. Greek
3.  French
4.  Hebrew

Options:
E4E250975359. 1



EAE35037540. 2
64535097541, 3
BAE3509754%. 4

Question Number : 51 Question Id : 64635024853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘it wsg @1 oo HIwT | I g 22
1. afes

2. A

4. Teg

Options:

64635097539, 1
64535037540, 2
64535037541, =2
E4E35037542 4

Question Number : 52 Question Id : 64635024854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The discipline of Comparative Study of Religions began with :
1. Max Miiller
2.  Max Weber
3. Mircea Elade

4.  Ernst Troeltrsch

Options:

4635097543, 1
64535097544 2
64535037545 =
64535037546, 4

Question Number : 52 Question Id : 64635024854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



tH &1 JOIHS R A v f&aes T TR gain un?
1. H59Hw
2. HEIRN
3. o uierarg

4. I cidecd

Options:

64535097543, 1
64535037544 2
648350397545 =2
4535097546 4

Question Number : 53 Question Id : 64635024855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Religion is a unified system of beliefs and practices.” To whom this statement is
attributed.?

1.  Niman Smart

2. Paul Rincour
3. William James

4. Emile Durkheim

Options:

435097547 1
64535097548, 2
64535097549, o
64535037550 4

Question Number : 53 Question Id : 64635024855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. g e
2. Uidafiee
3. fafemm o

4.  gHEdgEH

Options:

64535097547, 1
64535037548, 2
48350397549 =2
4535097550 4

Question Number : 54 Question Id : 64635024856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tick out the wrong statement :
1.  Religion involves spiritual experience.
2. Religion deals with good and ewil.
3. Rehigion s not concerned with sacraments.

4.  Religion comprises rifuals and ceremonies.
Options:
64635097551, 1
64635097552, 2
646835097553, 3
64635097554, 4

Question Number : 54 Question Id : 64635024856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TTod S 3 Rifgd Sifom:
1. " ¥ e 3FTHT T Bia ¢
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3. o uifife SepRi @ Safta 75 2
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Options:

64635097551, 1
64535097552 2
64535037553 2
64535037554 4

Question Number : 55 Question Id : 64635024857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“Man makes religion, religion does not make man.” With whom is this statement
assoclated?

1.  Sigmund Freud
2. Karl Marx

3.  John Hick

4. G.vander Leeuw

Options:

648350975551
4535097556 2
64535097557, o
64535097558, 4

Question Number : 55 Question Id : 64635024857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. RrAswas
2. BId HIGH
3. SHft®
4.  ©l.gEgdla

Options:

64635097555, 1
E4E350397556. 2
64535097557, 5
64535097558, 4

Question Number : 56 Question Id : 64635024858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of ‘“Numinous experience’ was propounded by
1. Auguste Comte
2. St Augustine
3. James G. Frazer

4. Rudolf Otto
Options:
64535037559, 1
64535037560, 2
64E35097561. 2
64535097562, 4

Question Number : 56 Question Id : 64635024858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS e HE T SAYRUT H1 Uidue® S U1

1. 3T B
2. < 3
3. SRS BoR

4. =3P 3

Options:

64835097559, 1
4535097560, 2
64535097561, o
4535097562, 4

Question Number : 57 Question Id : 64635024859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who has advanced the idea of ‘Oedipus complex” for the origin of religion?
1. Sigmund Freud
2. E.B Tyler
3.  Emile Durkheim

. Joaclim Wach

Options:

64535097563, 1
4835097564 2
4535097565 2
64535097566, 4

Question Number : 57 Question Id : 64635024859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Rrdswas
2. TR

3. 3HEdgEH
4. WUiGH S

Options:

4535097563, 1
64535097564, 2
64535037565 o
64535037566, 4

Question Number : 58 Question Id : 64635024860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who wrote the book “Marmual of the Science of Religion™?

| Emanuel Kant

2. 4 P Tels

3.  Edmund Husserl

4.  P. D. Chantepie
Options:
B4B35037567. 1
E4E25037568. 2
E4E25037569. 3
64535037570 4

Question Number : 58 Question Id : 64635024860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. g fad
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Options:

64535097567, 1
64535037568, 2
48350397569 2
E4E35097570. 4

Question Number : 59 Question Id : 64635024861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tick out the wrong statement :
1.  Theology deals with religious beliefs.
2. Philosophy of religion 1s a rational understanding of religion.
3.  Sociology of religion is a study of social behaviour.

4. Psychology of religion is concerned with the study of human race.

Options:

64635097571, 1
64535037572 2
64535037573 2
E4E350397574. 4

Question Number : 59 Question Id : 64635024861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tad HUF @1 fAfgd Sifor:
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2. yH-geF yd B afbes sarem s 2l
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Options:

4635097571, 1
64535097572 2
64535037573 2
64535037574 4

Question Number : 60 Question Id : 64635024862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List—II :

List-1 List-II
(a) Momnism (1) Belief in God or Gods
(b) Monotheism (11) Divine reality 1s identical with the nature
(¢) Pantheism (111) All reality 1s ultimately one
(d) Theism (1v) Beliefin only one God.

Choose the correct option from those given below :
(@)—1); (b){ii); ()~(1v); (d)—(i1)

2. (@), ®-v); (o)), (1)

3. (a-v); (b)-(); (o)1) (d)~1u)

4. (a)-(ur); (b)-Q); (©)~(u); (d)-{v)
Options:
64635097575, 1
64635097576, 2

EdBZ5037577. 3
E4B25037578. 4

—_



Question Number : 60 Question Id : 64635024862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 31 gA-11 9 gaferd S :
It - 11

(a) DRUTHG THTAG (i) d a1 caanel | fayra

(b) UG (ii) st gurd vefa ® feme 8
(¢) TIRAT i)y gt g ofq: v & ¥

(d) WA (v) 9 Te R H Ay

fau 77T foerey & 9 I8! IR &1 999 BIfo

L. (a)(i); (b)ii); (c){iv); (d)—(ii)
2. (a)y(i); (B)—av); (o)—(ii); (d)—1)
3. (a)-(v); (b)), (c)-(); (d)-(11)
4. (a)-ii); (b)-1); (c)—(ii); (d)—({v)

Options:

C4E2E097EYE 1

CACZE097ETE 2

E4E35097577. 3
EAEZ503757E. 4

Question Number : 61 Question Id : 64635024863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a part of religious expression of the primitive people?
1. Mana
2.  Magic
3.  Shamamsm

4. Henotheism

Options:
42350975749, 1



EAE35037580. 2
64535037581, 3
B4E53509758%. 4

Question Number : 61 Question Id : 64635024863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frenferea & & snigHeTes @l o uifife sfieafer &1 3191 0% o e 82

1. HFI
2. W
3. XA YH

4. UDCHER

Options:

64835097579, 1
E4E35097580. 2
64535097581, o
64535097582, 4

Question Number : 62 Question Id : 64635024864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Edward B. Tylor which was the earliest form of religion?
1.  Totemism
2. Ammism
3.  Exorcism

4. Polytheism

Options:

4635097583, 1
64535097584, 2
64535037585 =
64535037586, 4

Question Number : 62 Question Id : 64635024864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. TcHaR
2.  Gigdrg
3. ASge

4. dgeddR

Options:

64535097583, 1
64535037584, 2
64535037585 o
E4E35097586. 4

Question Number : 63 Question Id : 64635024865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I wath List-II ;

List—I List-II
(a) Totem (1) Folk priest
(b) Shaman (11) Spirit
(¢) Voodo (111) Lucky charm
(d) Fetish (1v) Sacred ammal

Choose the correct option from those given below :
1. (a)-av); (b)-(); (e)-(1); (d)—(111)
2. (a)-); (-1); (), (d)-1v)
3. (a)-(u); (b)-(m); (e)-(v); ()—~1)
4. (a)-au); (by—v); (¢)-(1); (d)—1)
Options:
64635097587, 1
64635097588, 2

64535037589, 3
645350397530, 4



Question Number : 63 Question Id : 64635024865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jat-1 &1 Jeit-11 9 gafed S -
Til-1 -1

(a) <IcH i) e gerd
(b) = (i) e

©) TS (iii)  HT-fE
(d) <9-T90 (iew) (v) ufEFug

feu 7 fasee # § Het ST 1 =9 HifoTT -
L (a)-v); (b)-Q); (e)-11); (d)~(111)
2. (a)-Q); (b)1); (c)H1i); (d)—(v)
3. (@)—(); ()-u); (e)—v); (d)—1)
4. (a)-(ui); (b)-(v); (c)-); (d)-(11)

Options:

64535097587,
4535097588,
4635097589,
64535097590,

o LIRS

Question Number : 64 Question Id : 64635024866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What do you mean by Deism?
1.  Dual nature of the Divine
2. Demolition of religious dogma
3. Sovereign God uninvolved in the process of creation

4.  Demal of the Holy

Options:
64535097591, 1



EAE35037592. 2
64535097583, 3
64535097554, 4

Question Number : 64 Question Id : 64635024866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aare | MU T I £
1. <ad @ Ui
2. yifH® ga «ftfar &1 3=ge=
3. EUY 3R gN-TE @t uimar ® HET e o §

4.  UfaFdl § sHR &0

Options:

64535097591, 1
64535037592, 2
64535037593 2
E4E350397594 4

Question Number : 65 Question Id : 64635024867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What do you mean by Henotheism?
1. Thereis no God
2. Worship in one God with beliefin the others
3. Multiplicity of Gods

4.  Oneness of God

Options:

64535097595, 1
64535037596, 2
E4E35037597. 2
64535097598, 4

Question Number : 65 Question Id : 64635024867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3.  dg¥daR
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Options:
45350975495 1

E4E350375396. 2
EAE35037597. 3
B45350975398. 4

Question Number : 66 Question Id : 64635024868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Book of the Dead’ 1s concerned with the
1. Inca Civilization
2. Babyloman Civilization
3.  Egyptian Civilization
4.  Greek Civilization

Options:

64535097599, 1
64535037600, 2
64535037601, 2
4835097602, 4

Question Number : 66 Question Id : 64635024868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I 31 T 38 e Tafta &
1. vl
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4. GEAF Al

Options:



EAE35097595. 1
64535037600, 2
645350376801, 3
64535037602, 4

Question Number : 67 Question Id : 64635024869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Code of Hammurabi is associated with
1.  Roman Civilization
2. Chinese Civilization
3.  Mesopotamman Civilization

4. Greek Civilization

Options:

64535097603, 1
64535037604, 2
4835097605 2
E4E35097606. 4

Question Number : 67 Question Id : 64635024869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1. 99wl

2. 99 o 9T
3. HIOehHE @t T

4. AT Il
Options:
64535037603, 1
64535037604, 2
64535097605, 2
645350976086, 4

Question Number : 68 Question Id : 64635024870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What do you mean by Schism?
1.  Fusion of two religious traditions
2. Cross-fertilization of religious traditions
3.  Splitin a religion on doctrinal grounds

4. Cross-cultural unity

Options:

64535097607, 1
E4E35097608. 2
E4E35097609. 2
64535097610, 4

Question Number : 68 Question Id : 64635024870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

CAEIE097E07. 1

CACIE097E08. 2

64535037609, 3
64535037610, 4

Question Number : 69 Question Id : 64635024871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tick out the wrong statement :
1. Zoroastrian scripture is known as Avesta.
2.  Teachings of Zoroaster are called Gathas.

3.  Oldest section of Zoroastrian scripture 1s known as Yasna.

4,  Zoroastrian scripture is written in Sanskrit.

Options:



EAE35097611. 1
64535037612 2
64535037613, 3
645350397614, 4

Question Number : 69 Question Id : 64635024871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TTeld U= & g Sifom:
1. R Aa & g @1 i A & S S 2
2. RgwW 3 Rignsit &1 T Fe o B
3. URE Ad P AR ¥ R U 969 & AW 3 9 o 2
4. URE Yo @) GEpd 1§ forer T 2

Options:

4535097611, 1
64535097612 2
64535037613 =
64535037614, 4

Question Number : 70 Question Id : 64635024872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which name 1s given to the evil spirt in Zoroastriamsm?

1. Angra Mainyu
2. Amesha Spenta
3.  Vidavat

4.  Kust
Options:
4635097615, 1
64535097616, 2
64535037617, 2
64535037615, 4

Question Number : 70 Question Id : 64635024872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. TEHEg
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Options:
E4E35037615. 1

E4E35037E1E. 2
EAE35037617. 3
EAE35097618. 4

Question Number : 71 Question Id : 64635024873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W

Who among the following anthropologists said, “religion is belief in spiritual beings™?
1.  Bromislaw Malinowski
2. James G. Frazer
3.  Edward B. Tylor

4, Mircea Eliade

Options:

64635097619, 1
64535037620 2
64535037621, 2
E4E35097622. 4

Question Number : 71 Question Id : 64635024873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097619, 1
E4E35097620. 2
E4E35097821. 2
4535037622, 4

Question Number : 72 Question Id : 64635024874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does phenomenological understanding of religion mean?
1. Studving religion in a historical context
2.  Studying the phenomenon of religion in cultural contexts
3. Studwying religion as 1t originates

4. Studving religion as it appears

Options:

64835097623, 1
E4E35097524. 2
64535037625, o
4535097626, 4

Question Number : 72 Question Id : 64635024874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e @t o e il 1w a2
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Options:

64535097623, 1
E4E35097624. 2
E4E35097825. 2
64535037626, 4

Question Number : 73 Question Id : 64635024875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who wrote the book, Future of an Iiusion?
1. Karl Marx
2. Sigmund Freud
3.  Ludwig Feuerbach

4. Kushwant Singh

Options:

4835097627, 1
64535037628, 2
64535097629, o
64535037630, 4

Question Number : 73 Question Id : 64635024875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TER 36 U7 3o TH P 98 DI 87
1. &I HEd
2. Tydswos
3. g aRas
4, GIEd R
Options:

64535097627, 1
EAEZS097E2E. 2
EAE35037629. 3
EAE35037630. 4

Question Number : 74 Question Id : 64635024876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What does religious pluralism mean?
1.  There is one true religion and other religions are false
2. Different religions are pathways to one true religion
3.  All religions are true and they are parallel to one another

4.  All religions are true and they can learn from one another

Options:
64635097631, 1



EAE35097E32. 2
B4E535037633. 3
E45350397634. 4

Question Number : 74 Question Id : 64635024876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tftfes SgeaTaTe 1 o1 el 87
1. U% g oy g g o oy o fipan 8
2. om-fim od te 9= ol 9@ vgen & ARl §
3. oty o= B € oI A U - R & IHFIR
4. Tt g o= @A € ok 3 Uw-gR @ e T §

Options:

64535097631, 1
64535097632, 2
64535037633 o
64535037634, 4

Question Number : 75 Question Id : 64635024877 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who was the sociologist of religion who spoke about routimzation of charisma?

1. Talcot Parsons
2.  Herbert Spencer
3. Karl Marx

4. Max Weber

Options:

64535097635, 1
64535037636, 2
E4E35097637. 2
E4E35097628. 4

Question Number : 75 Question Id : 64635024877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¢H & IR H 98 JHORTE! S o1, o s & Fodiew @ feamemm) @ == a1
| [ =) e s

2. BEC WX
3. SId Al
4, HEHIRN

Options:

64535097635, 1
64535037636, 2
E4E35097637. 2
E4E35097628. 4

Question Number : 76 Question Id : 64635024878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does existentialism stand for?
1.  Metaphysical thinking
2.  Exstence precedes essence

3. Essence precedes existence

4.  Materialism

Options:

4835097639, 1
E4E35097540. 2
64535097641, o
64535097642, 4

Question Number : 76 Question Id : 64635024878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097639, 1
4835097640 2
4535097641, =2
64535027642, 4

Question Number : 77 Question Id : 64635024879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II :

List—I List-II
(a) Satnam panth (1) Religious leader from North-East India
(b) Shankar Dev (11) Hindu-Mushim mystic
(¢) Kabir (111) Subaltern socio-religious reformer
(d) Sn Narayana Guru (1v) Commurty of the frue name

Choose the correct option from those given below :
1. (@), (B)-v); (e)-1); (d)ii1)
2. (a)-(u) (b)-); (¢)~(n); (d)-(v)
3. (&) (b)-(v); (e)-(1); (d)11)
4. (a)-(v); (b)) (e)—-(); (d)~(11)
Options:
64635097643, 1
64635097644, 2

64535097645, 3
645350397646, 4

Question Number : 77 Question Id : 64635024879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



11 1 FEI-11 & Ao Sifor :
-1 -1

(a) ™ Uy (i) IIR-Td HRA & YT =
(b) T ()  Rg-gRm T
(¢) FEAR (iii) e ATHI - HTHG YRS
(d) ot TRE T (iv) 9 FTH ST 9

feu e fdewed § 9 92t IR @1 99 I ;

1. (@-@u); (b)-v); (0)-); (d)-(11)
2. (a)y-(u); (b)-Q); (©)~1); (d)-(v)
3. (@-); (b)-v); (e)-(ur); (d)(i1)
4. (a)-(v); (b)-Q); (e)-(); (d)-(m)

Options:

4835097643,
4535097644,
4535097645,
4535097646,

[

Question Number : 78 Question Id : 64635024880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Who among the following thinkers traced religion to collective unconscious?
1. Sigmund Freud
2. William James

3. Rene Girard

4. Carl Jung

Options:

4535097647, 1
64535097648, 2
64535037649, o
64535037650, 4



Question Number : 78 Question Id : 64635024880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFafeted 7 9 &9 fias = 9t sria= @ yd &1 udr T

1. RrAswrs
2. faferm oimg
3. WS
4, @7 9T

Options:

64535097647, 1
E4E35037648. 2
4535097649 =2
64535037650, 4

Question Number : 79 Question Id : 64635024881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does humanism stand for?
1.  Psychological orientation of the human
2. Transcendental orientation of the human
3.  Non-transcendental, but integral power of the human
4. Mystical powers of the human

Options:
4535097651, 1

EAEZ5037652. 2
E4E35037653. 3
EAE35037654. 4

Question Number : 79 Question Id : 64635024881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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2. U™ &I YA faarg
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4, OIS D WRHES Al



Options:

64535097651, 1
4835097852 2
4535097852 2
64535097654, 4

Question Number : 80 Question Id : 64635024882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who said that the birthplace of the oldest religion 1s India?
1. Max Weber
2. Max Miller

3. William James

4. G.W.F. Hegel

Options:

64535097655, 1
64535037656, 2
64535037657, 2
4835037658, 4

Question Number : 80 Question Id : 64635024882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fore a8 w1 ot o yreivay o &1 S YRa 82
1. Hegaw
2. Aog
3. fafemm o=

4. off. S5, U, §A

Options:

4535097655, 1
64535097656, 2
64535037657, 2
64535037658, 4

Question Number : 81 Question Id : 64635024883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The concept of *Vasudhaiva Kutumbakam’ 1s related to
1. Vedic culture
2. Charvak culture
3.  Theravad culture

4.  Islamic culture

Options:

64535097659, 1
64535037660, 2
64535037661, 2
E4E3S0376E2. 4

Question Number : 81 Question Id : 64635024883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘TYIT POEBH’ TR BT T fHTq 82
1. AR Sl
2. i SRl
3. U@ ¥l
4.  THD Spid

Options:

64535097659, 1
E4E3S0376E0. 2
64535037661, 5
4535097662, 4

Question Number : 82 Question Id : 64635024884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of Vedas is

1. four
2. S1X
3. eight

4. ten



Options:

64535097663, 1
E4E35097664. 2
E4E350978E5. 2
4535037666, 4

Question Number : 82 Question Id : 64635024884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

CAkA R e b
. =R
2. ®
3. 3B
4. T9
Options:

64535097662, 1
EAEZ5037664. 2
EAE350376E5. 3
EAE3503766E6. 4

Question Number : 83 Question Id : 64635024885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The hymns of Rigveda are arranged info :

1.  Chapters
2. Mandalas
3. Archikas
4. Kandas

Options:

4835097667, 1
E4E35097EEE. 2
64535097669, o
64535037670, 4

Question Number : 83 Question Id : 64635024885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Hiac ! FAX fHad afkg 22

1. gl
2. HUSdl
3. ofdet
4. st

Options:
E4EI5037667. 1

EAE35037EER. 2
EAE35037660. 3
EAE35097670. 4

Question Number : 84 Question Id : 64635024886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A big number of deities 1s mentioned in the Vedas. This concept 1s known as :

1.  Polytheism
T Mormsm
3.  Pantheism

4. Communism

Options:

64535097671, 1
E4E3S097672. 2
645350376732, 5
4535097674, 4

Question Number : 84 Question Id : 64635024886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097671, 1
E4E3S037E72. 2
E4E35097E72. 2
4535097674, 4

Question Number : 85 Question Id : 64635024887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Satapatha Brahmana is the basic commentary of :

1. Yajurveda
2. Rigveda
3. Samaveda

4, Atharvaveda

Options:

64535097675, 1
64535037676, 2
E4E3E5097877. 2
E4E35097678. 4

Question Number : 85 Question Id : 64635024887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TA0Y S0 gd ¥0 J SR T € -

1. O9dg &1
2. FBRC D

3. A Bl
4. IyyddAg &

Options:

4635097675, 1
64535037676, 2
64535037677, 2
E4E3509767E. 4

Question Number : 86 Question Id : 64635024888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct author-group of Sankhya-Satra and Yoga-Sttra respectively :
1.  Jairmm—Patanjali
2. Kapil—Patanjali
3. Kanad—Kapil
4. Goutam—Badarayana

Options:

64535097679, 1
64535037680, 2
4835097681, 2
E4E350978382. 4

Question Number : 86 Question Id : 64635024888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T -3 3T anT-GA & YUIg-g7H &1 HA: 9g1 ©U 9 3 St

1. oftfR—ugafa
2.  Slodg—udgfe
3. SHUc—&ud

4. TH—ITERE
Options:
645350976793, 1
64G35097680. 2
64535097681, 3
GAG35097682. 4

Question Number : 87 Question Id : 64635024889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The text Bhagavata is the part of which literature?

1. Vedanga
2. Upanishad
a0 Purana

4. Aranyaka

Options:



EAE35097683. 1
64535097684, 2
64535037685, 3
64535097656, 4

Question Number : 87 Question Id : 64635024889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HITad J50® [ WIieed BT e 87
1. ATy
2. QuiEg
3. 9w
4, SRUGS
Options:

EAE35097683. 1
E4E35097684. 2
64535037685, 3
64535097656, 4

Question Number : 88 Question Id : 64635024890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
As per set condition one year unknown exile was the part of life of :

1.  Shr Rama
2. Pandavas
3.  King Hanshchandra

4.  Nachiketa

Options:

4635097687, 1
64535097688, 2
64535037689, =
64535037690, 4

Question Number : 88 Question Id : 64635024890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 & YR U Ay T ATy s silae @1 e ur

1.  #Rm

2. Uwsg

3. TSN EER
4. Ffadar

Options:

4635097687, 1
64535097688, 2
64535037689, =
64535037690, 4

Question Number : 89 Question Id : 64635024891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The concept of Jfiian, Karma and Bhakti for Salvation has great role in :

ki Charvakism
2. Shaivism

3. Tantraism

4. Vaishnavism
Options:
64635097691 1
£4635097692. 2
64635097693, 3
64635097694, 4

Question Number : 89 Question Id : 64635024891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hf&d & g I, $H R 1T 31 931 HFBT1 8
1. =Eiedr H
2. RaudH
3. dA"aH
4. duEHAH

Options:



EAE350976591. 1
BAE350976382. 2
E4535097633. 3
64535037634, 4

Question Number : 90 Question Id : 64635024892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ramakrishna Mission was founded by :
1.  Swam Vivekanand
2. Dayanand Saraswati
3.  Ramakrishna Paramahans

4. Raja Rama Mohan Roy

Options:

64535097695, 1
64535037696, 2
64535037697, 2
4835037698, 4

Question Number : 90 Question Id : 64635024892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TG R & T fge g1 &1 13 i
1. @ faere
2. O Sl
3. UHPW THEH

4. TS IH HIEgT ™

Options:

4635097695, 1
64535097696, 2
64535037697, 2
64535037698, 4

Question Number : 91 Question Id : 64635024893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Kasthasafigha” word is related to the sect of Jaimism
. MurtipGjaka Svetambera
2. Sthanakavasi Svetambera
3.  Terapantha sect

4. Digambera sect

Options:
4350976499, 1

EAE35037700. 2
E4E35037701. 3
BAE35097702. 4

Question Number : 91 Question Id : 64635024893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SHH BT Yeg fd IR 9 graid 87
1. Hiiuse Saras

2. WFHar 4drEs
3. OO 99
4. TR gmeE

Options:

64535097699, 1
4535097700, 2
64535097701, 5
64535037702, 4

Question Number : 92 Question Id : 64635024894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following :

List-I List-II
(a) Rsabhanatha (1) Varanasi
(b) Neminatha (11) Vaisali
(¢) Parsvanatha (111) Astapada
(dy Mahavira (v)  Ginnara

Choose the correct option from those given below :
L (@), (b)) (¢)-v); (d)-(um)
2. (au); (b-v); (¢)-@1); (1)
3. (a-u); (b)—m); ()-Q); (d)-Ov)
4. (a)-(D); (b)—11); (c)-{1ii); (d)-(1v)

Options:

4535097703, 1
64535037704, 2
64535037705, =
64535037706, 4

Question Number : 92 Question Id : 64635024894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Heil-1 & Geil-11 9 gaferd sifon :
qel-1 at-11

(@) BYHTH (i) GIRE

(by =Ty (i1) et

(0 Ty iy  emUE

(d) WEER (v) R
feu e faeey © 9 HE IR &1 99 Do -

1. (a)-); (B)H1); ()-v); (d)—(1)
2. (a)y-(ui); (b)-(v); (c)-); (A1)
3. (@), (b)-Gu); (¢)-1); (d-av)
4. (a)-@; (b)—); (o)—1); (D)-Gv)

Options:

64635097703, 1
64535037704, 2
64535037705, =
E4E35097706. 4

Question Number : 93 Question Id : 64635024895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

‘Samyagdarsana-jnana-caritrani-moksamargah’ sttra 1s mentioned in this text :
1. Bhagavati Aradhana
2. Tattvarthasatra
3.  Sammaisuttarn

4. Pravacanaséra

Options:

64535097707, 1
E4E35097708. 2
E4E35097709. 2
64535097710, 4



Question Number : 93 Question Id : 64635024895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YRIGR-FH- AT Higmr!: T food 7 & Igya 87

1. HITEdl SIRIEAT
2. gEgm
3. wHEYd
4. UIETER

Options:

4535097707, 1
64535097708, 2
64535037709, =
64535037710, 4

Question Number : 94 Question Id : 64635024896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Jainism “Akasa’ is included into :
1.  three jewels (Ratnatraya)
2. five knowledges

3. s1X substances

4.  seven fundamentals

Options:

4535097711, 1
64535097712 2
64535097712,
64535037714, 4

Question Number : 94 Question Id : 64635024896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



oY & 39N TSR Veg foraw gfvferd 87

1. Ba @@=
2. UAIH
3. ©:FA
4.  gadd

Options:

64635097711, 1
64535037712 2
64535037713 2
E4E35097714. 4

Question Number : 95 Question Id : 64635024897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The meamng of ‘Anekanta’ 1s :
1.  congueror of mental defilement
2. self study of Jain scriptures
3.  multiple aspects of the reality
4.  realization of the views

Options:

64635097715, 1

64635097716, 2

64635097717, 3

64535097718, 4

Question Number : 95 Question Id : 64635024897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535097715, 1
E4E35097716. 2
E4E35097717. 2
64535097718, 4

Question Number : 96 Question Id : 64635024898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Jain monuments of Devagarha are specially famous for :

1.  iconography
2. paintings
3. stupas

4. illustrated manuscripts

Options:

64635097719, 1
E4E35097720. 2
64535097721, 5
4535097722, 4

Question Number : 96 Question Id : 64635024898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

2ATE & OF Bl WS 39y ®U 3 feas o ufdg 27

. HfdRe
2. femo
3. W™

4 fafa oroghi

Options:

4535097719, 1
4535097720, 2
64535037721, 2
64535037722, 4

Question Number : 97 Question Id : 64635024899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ajanta Arts is famous for :
1. wooden painting
2. wall painting
3. paper painting
4. cloth painting

Options:

64535097723, 1
64535037724, 2
64535037725, 2
E4E35097726. 4

Question Number : 97 Question Id : 64635024899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3ror @1 B g e wiig 22
1. doel (@) EaRt
2. TR femerdt
3. oA Eert
4. s DI ESRI
Options:

B4E35097723. 1
64535097724, 2
64535097725 3
EAEZ5037 726, 4

Question Number : 98 Question Id : 64635024900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The place “Shri Sammeda Sikhara’ Teerth is famous for :
1.  worship place of the statue of Gommatesa
2. salvation place of Lord Rsabha
3.  earliest museum of palm leave manuscripts

4. salvation place of 20 Jaina Teerthankars



Options:

64535097727, 1
E4E3509772E. 2
E4E35097729. 2
64535097720, 4

Question Number : 98 Question Id : 64635024900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“oft grig Ry it wa foad fm ufig 2 -
1. T Hid &1 go /=
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3. arewH uogiatal &1 vEian SRt
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Options:
435097727, 1

EAEZ5037 728, 2
EAE35037729. 3
BAE35037730. 4

Question Number : 99 Question Id : 64635024901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Environmental importance in Jainmism 1s given by :

1. Syadvada
e Anekantavada
A Charity

4.  Night fasting

Options:

648350977311
E4E35097732. 2
64535097732, 5
64535097724, 4

Question Number : 99 Question Id : 64635024901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. wER

2. IErAG
3. ©F
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Options:

648350977311
E4E35097732. 2
64535097732, 5
64535097724, 4

Question Number : 100 Question Id : 64635024902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[dentify the correct group of festivals in Jaimism :
1. Astanhika, Solahakarana, Raksabandhana
2. Astanhika, Solahakarana, Holi
3. Aksaya Trtiya, Holi, Diwali

4. Aksaya Trtiva, Solahakarana, Krsnajanmastami

Options:

64535097735, 1
E4E35037736. 2
E4E35097737. 5
64535097728, 4

Question Number : 100 Question Id : 64635024902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097735, 1
E4E35097736. 2
E4E35097737. 2
64535097728, 4

Question Number : 101 Question Id : 64635024903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Before his renunciation (Abhimikkhamana), Prince Siddhartha (later Gautama Buddha)
had a son whose name was :

1. Ananda

2. Rahula

3. Devadatta
4. Nanda

Options:

64535097739, 1
64535037740, 2
64535037741, 2
E4E35037742. 4

Question Number : 101 Question Id : 64635024903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR (STH-aEH) ¥ Ugd ISIpHR g @15 | 1MaH §&) $1 U O3 o, foree! =19 o -

1. 3=
2. g
3. Qdgd
4. TG

Options:

64635097739, 1
E4E35097740. 2
4535097741, 2
64535097742, 4

Question Number : 102 Question Id : 64635024904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Siddhartha became Gautama Buddha at the age of :

1. 40 years
2. 35vears
3. 30 vyears
4, 45 years

Options:

64535097743, 1
64535037744 2
64535037745 2
48350397746, 4

Question Number : 102 Question Id : 64635024904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fRrgrd 5 omg ® aw g5 92
. 4099
2. 35ay
3. 30ay
4. 459§
Options:

EAE35097743. 1
BAE35097 744, 2
64535097745, 3
645350397746, 4

Question Number : 103 Question Id : 64635024905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the discourse, on the basis of which, 1t 1s said, the Buddha left this household
life during day time :

1. Milapariyaya Sutta
2.  Sabbasava Sutta
3. Kutadanta Sutta

4. Anvya panyesana Sufta



Options:

64535097747, 1
E4E35097748. 2
4535097749 2
64535097750, 4

Question Number : 103 Question Id : 64635024905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

39 TUCY B UgEH Hifo, s IR § HeT o € 5 39 3MUR W MaH g€ 7 U
-8R G & 9T # Arm Ul -

1. Hautar gd

2. USSEgd

3. FeedgS
4.  3RG ufE= g

Options:

4535097747, 1
64535037748, 2
64535037749, 2
48350397750, 4

Question Number : 104 Question Id : 64635024906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first text of the “NAVA Dharmas of the Nepalese Buddhism’ 1s known as :
1. Suvarna Prabhasa Satra
2. Saddharma Pundarika Saftra
3.  Saddharma Lankavatara Sutra

4. Asta Sahasnka Prajnaparammta Sttra

Options:

4535097751, 1
64535097752 2
64535037753 2
64535037754, 4

Question Number : 104 Question 1d : 64635024906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



AUTelt Sig oH B 79 yH &1 v T g =18 Q o1 o 22
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Options:

4635097751, 1
64535097752 2
64535037753 2
64535037754 4

Question Number : 105 Question 1d : 64635024907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Theravada Buddhism was given the name of the Theravada in the context of another
sect of Buddhism then popularly known as :

l. Sarvastivada

2

Vibhajavada
3.  Mahasanghika
4. Valbhasika

Options:

64835097755, 1
E4E35097756. 2
64535097757, o
4535097758, 4

Question Number : 105 Question Id : 64635024907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097755, 1
E4E35097756. 2
E4E35097757. 2
64535097758, 4

Question Number : 106 Question Id : 64635024908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The school of Buddhism which holds that mind (consciousness) alone 1s real, 1s known
as :

ot

Y ogacara Vijnanavada
2. Saonyavada
3. Sarvastivada

4, Theravada

Options:

64835097759, 1
E4E350977E0. 2
64535097761, o
4535097762, 4

Question Number : 106 Question Id : 64635024908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I yH &1 98 Tife guey, s FuR 59 (Re) 9@ 94 8, 59 18 | o o 22
1. IFmER [{gEarg

2. ARG
3. Yaifkare
4.  WER

Options:

64635097759, 1
E4E35097760. 2
E4E350977E61. 2
4535097762, 4

Question Number : 107 Question Id : 64635024909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Diksha Bhiimu Sttipa was erected to commemorate an event known as :
1. Dalai Lama’s advent to India
2. enshriming of the relics of Sariputta and Moggallana
3.  publication of the Pali Tipitaka in Nagari script

4.  embracement of Buddhusm by Dr. B. R. Ambedkar

Options:

64535097763,
4835097764,
E4E35097 765,
4535097766,

o IR

Question Number : 107 Question Id : 64635024909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Slem Y wu for T S aeTTR ® §E1 T o1, 98 9T {9 M § Sl e 87
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Options:
435037763 1

EAE35037 764, 2
EAE35037 765, 3
EAE35097 766, 4

Question Number : 108 Question Id : 64635024910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The motivating idea of Chinese traveller, Fa-Hien in visiting India was to collect and
compare Buddhist texts of one particular branch of Buddhist learning. The name of that
branch of learming i1s :

| Satra
2.  Vinaya Text
3.  Abhidharma Text

4.  Text on Nyaya and Pramana Sastra (logic and epistemology)



Options:

64535097767, 1
E4E350977EE. 2
E4E350977E69. 2
4535097770, 4

Question Number : 108 Question Id : 64635024910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E350977E7. 1

EAE3503776E. 2
EAE35037769. 3
BAE35037770. 4

Question Number : 109 Question 1d : 64635024911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The area of specialization of Hiuen Tsang (Chinese Buddhist Traveller) in the Buddhist
knowledge and lore was :

1. Sitras (Scriptural Texts)
2. Vinaya Texts
3.  Abhidharma Texts

4. Buddhist (Mahayana) philosophy in general

Options:

64535097771, 1
64535037772 2
E4E35097772. 2
E4E35097774. 4

Question Number : 109 Question Id : 64635024911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097771,
64535097772,
4835097773,
E4E35097774,

[ N

Question Number : 110 Question Id : 64635024912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List—II :

List-—I List-II
(a) Nagpur (1)  Place of Dr. Ambedkar’s birth
(by Dell (1)  Place of early schooling
(¢) Mhow (111)  Place of embracement of Buddhism
(now Ambedkar Nagar)

(d)y Bombay (now Mumbai) (1v)  Place of his passing away

Choose the correct option from those given below :

1. (a)and (v)
2. (b)and (i)
3. (cyand (1)
4. (d)and (111)

Options:

64635097775, 1

64635097776, 2

EAB3S037 777, 3
EAE35037778. 4



Question Number : 110 Question Id : 64635024912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(d) S (3E =) (iv) Y o8l Il Sgr gall
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2. (b) U (i)

3. (W)

4. (d) U (iii)
Options:
645350977751
E4E3509777E. 2
GAG3S097777. 3
G4AG35037778. 4

Question Number : 111 Question Id : 64635024913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A name with which the Hebrew Bible addresses God 1s :

. YHYVH

2. NABI

3. MESSIAH
4. MAZDA

Options:

64535097779, 1
64535037780, 2
64535037731, 2



EAE35037 782, 4

Question Number : 111 Question Id : 64635024913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

8 M, fored fo rewe S S sl €, 2 :
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4.  HISEl

Options:

435097779, 1
64535097780, 2
64535097781, o
64535037782, 4

Question Number : 112 Question Id : 64635024914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Where is the key prayer of Judaism “Shema Yisrael® found?
1. Exodus 20 : 20
2. Deuteronomy 6 : 4-5
3. Exodus23:1

4, Lewviticus 19 : 17

Options:

64535097783, 1
64535037784, 2
E4E350977E5. 2
E4E35097726. 4

Question Number : 112 Question Id : 64635024914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ag<l v 31 g w2 e sl e 22
1. UsHSH20:20
2. fSgeAm 6 4-5
3. uaEEg23: 1
4. WRABT19:17

Options:

64535097783, 1
64535037784, 2
64535037735, 2
E4E35097736. 4

Question Number : 113 Question Id : 64635024915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The Hebrew Bible, the Holy book of Judaism, consists of :

-

Torah, Prophets and Writings
2. Pentateuch, Talmud and Misnah
3. Books of Moses, Midrash, Gemara

4. Prophets, Writings and Talmud

Options:

4835097787, 1
E4E35097788. 2
64535097789, o
4535097790, 4

Question Number : 113 Question Id : 64635024915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097787, 1
E4E350977EE. 2
E4E35097729. 2
64535027790, 4

Question Number : 114 Question Id : 64635024916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When did Rabbi Hillel live?
1. During the 2™ century BCE
2. Between 1% century BCE and 1% century CE
3. During the 2™ century CE
4. During the 1¥ century CE

Options:

64535097791, 1
64535037732, 2
645350377332, 2
E4E350377394. 4

Question Number : 114 Question Id : 64635024916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

{5, foddl 1 Siia= Sl ol :
. 39-od i wared & eRM
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3. fedia < wardl & GRA
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Options:

64635097791, 1
E4E35037732. 2
E4E350977392. 2
64535097794, 4

Question Number : 115 Question Id : 64635024917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who was the first king of Jews?
1. Saul
2. Dawid
3.  Solomon

4, Samuel

Options:

64535097795, 1
64535037796, 2
64535037737, 2
E4E35037738. 4

Question Number : 115 Question Id : 64635024917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fgel &1 TUH el S U1?
1. 99
2. sSfds
3. 9

4.  9gord

Options:

64535097795, 1
E4E35097736. 2
E4E350977397. 2
64535097798, 4

Question Number : 116 Question Id : 64635024918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When did the prophet Amos live?
1.  During the 6" century BCE
2. During the 8" century BCE
3. During the 10" century BCE

4. During the 9" century BCE



Options:

64535097799, 1
E4E35097800. 2
4535097201, 2
4535027802, 4

Question Number : 116 Question Id : 64635024918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
42350977599, 1

E4E35037800. 2
64535037801, 3
64535037802, 4

=

Question Number : 117 Question 1d : 64635024919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Jewish ethics 1s guided by :
1. laws of punty and pollution
2. social contract theory
3.  modern liberalism

4. covenantal consciousness
Options:
£4635097803. 1
64635097804, 2
64635097805, 3
64635097806, 4

Question Number : 117 Question Id : 64635024919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. e SR yguor & fm
2. amife i gt
3. IYFe ISR
4. VRIS I @aHd Si-aa)

Options:

64535097803, 1
64535037804, 2
64535037805, =
E4E35097806. 4

Question Number : 118 Question 1d : 64635024920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List—II:

List-I List-II
(a) Patriarchs @  2™-18" century CE
(by Hellenistic Judaism (11)  Mount Sinai
(¢) Moses (i)  Abraham, [saac, Jacob

(d) Rabbinic Judaism (v)  4"-2"¢ century BCE

Choose the correct option from those given below :
1. (@—1v); (b)-(n); (e)(); (d)iii)
2. (ay(u); (b)-Qv); (e)-); (D)—1)
3. (a)); (b)-1); (e)ur); (d)-(1v)
4. (ayH1); (b)i); (c){(ui); (d)—1v)

Options:

64535097807, 1
64535037808, 2
64535037809, =
4835097810, 4



Question Number : 118 Question Id : 64635024920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
-1 1 GE-11  gAfr B -
-1 T&l- 11
(a) foamg @ Ed-rgRed s S
(b) FFF IEG "G (ii) Arde RS

(c) =& (iii) 3(SEH, 3Z0iP, oihd
(d) st agetaa (v)  =E-ud 9rdl-ge St
feu e Aen & T I8 SR &1 I9= Hiferw :

L. (@)-Qv); (b)-(b); (¢)-0); (d)-(i)
2. (ay-(m); (b)-av); (c)-Q); (d)—1)
3. (a-(); (B)1); ()(u1); (d)-av)
4. (a)-(1); (b)-(i1); (¢)~(u1); (d)-(1v)

Options:

B4B35037307. 1

E4E25037808. 2

E4E35097809. 3
B4535097810. 4

Question Number : 119 Question 1d : 64635024921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does Halakha stand for?
1. Torah
2. Practical guide of the Jewish law
3.  Jewish philosophy

4.  Haggadah

Options:
64635097811, 1



EAE3503781Z2. 2
64535037813, 3
64535097814, 4

Question Number : 119 Question 1d : 64635024921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TR T AT ol 67

1. dRrE

2. ggal Fow o eEeie ArieRieT
3. Jgal e’
4. Blal

Options:

648350973811, 1
E4E35097812. 2
64535097812,
64535037814, 4

Question Number : 120 Question Id : 64635024922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The name of the mount in which Moses received the ten commandments :
1. Mount Carmel
2. Mount Tabor
3.  Mount Gerizim

4. Mount Sinai
Options:
4025097515, 1
646235097516, 2
64635097517, 2
64E535097515. 4

Question Number : 120 Question 1d : 64635024922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. wEe o
Options:
645350378151
64G35097816. 2
E4AE35097817. 2
64535097818, 4

Question Number : 121 Question Id : 64635024923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the core teaching of Jesus about?
1. Reign of God
2. Blessedness of the poor
3.  Freedom of Jews

4. Protection of the marginalised

Options:

64835097319, 1
645350973820, 2
64535097821, o
64535037822, 4

Question Number : 121 Question Id : 64635024923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



EAE35097815. 1
6435097820, 2
64535097821, 3
64535097822, 4

Question Number : 122 Question Id : 64635024924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Early Christians were persecuted primarily because :
1.  they were spreading a new religion
2. they were living out a different life style
3.  theyrefused to worship the emperors

4.  they wanted to become saints

Options:

64535097823, 1
E4E35097824. 2
E4E35097825. 2
645350973526, 4

Question Number : 122 Question Id : 64635024924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. desTuud B B ® Y
2. T @ - S A

3. ToiF 9UIE B ARIYA H31 ° SHR S gar o7

4. dGdSTTEEd Y

Options:

64535097823, 1
64535037824, 2
E4E35097825. 2
645350973526, 4

Question Number : 123 Question Id : 64635024925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which were the original languages in which Christian scriptures were written?
1. Hebrew, Greek, Aramaic
2.  Hebrew, Greek, Latin
3. Greek, Latin, Persian

4.  Hebrew, Greek, Pahlvi

Options:

E4E35097327. 1
645350973828, 2
64535097829, o
645350378230 4

Question Number : 123 Question Id : 64635024925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

29Ts urfTidt o f= g et 1 ferar T ur?
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3. A, dfeH, B
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Options:

64835097327, 1
E4E35097828. 2
64535097829, o
64535097820 4

et

Question Number : 124 Question Id : 64635024926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the meaning of “homoousios’ the word used to speak of the umty of the Triune
God?

ks Of the same substance
2. Of similar substance
3. Of related substances

4. Of unrelated substances

Options:



E4E35097821. 1
64535097832, 2
64535037833, 3
6453503975824, 4

Question Number : 124 Question Id : 64635024926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. Tdigasn
2. 9HE &A@
3. Hafd g &
4. U woAl @1

Options:

64635097831, 1
E4E3S5037832. 2
E4E35097822. 2
64535097824, 4

Question Number : 125 Question Id : 64635024927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Septuagint, code named as LXX, was the :

1. earliest Aramaic translabion of the Hebrew Bible
2. earliest Greek translation of the Bible
3. earliest Latin translation of the Hebrew Bible

4. earliest Greek translation of the Hebrew Bible

Options:

4535097835, 1
64535097836, 2
64535037837, 2
64535037838, 4

Question Number : 125 Question 1d : 64635024927 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097835, 1
64535037836, 2
E4E35097837. 2
E4E35097828. 4

Question Number : 126 Question Id : 64635024928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What did the anabaptists give importance to?

p—

Baptism in the spirit
2.  Baptism by fire
3.  Infant baptism

4. Adult baptism

Options:

64835097339, 1
4535097840, 2
64535097841, o
64535097842, 4

Question Number : 126 Question Id : 64635024928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4, TOH TERHAT

Options:

64835097339, 1
4535097840, 2
64535097841, o
64535097842, 4

Question Number : 127 Question Id : 64635024929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Pentecostalism during the twentieth century was introduced to India by whom?

1. Charles Parham
2 Pastor Paul
3. K.E. Abraham

4. Robert F. Cook

Options:

645350975843, 1
64535097844, 2
64535037845 =
64535037346, 4

Question Number : 127 Question 1d : 64635024929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YA H S TdTee] & TR e ‘TosRefoed’ & R fasar ur?

1. =Te WeH

2. TR U

3. .35 3ETeH
4. AL G55

Options:

645350975843, 1
64535037544, 2
483503973845 =2
E4E35097846. 4

Question Number : 128 Question Id : 64635024930 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who proposed the theology of social gospel?
1. Paul Tillich
2.  Walter Rauschenbusch
3.  Gustavo Guhtierrez

4.  Reinhold Niebuh

Options:

4835097347, 1
E4E35097848. 2
64535097849, o
64535097850, 4

Question Number : 128 Question Id : 64635024930 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



qrATfSIS Tomr @ 4 HiFi &1 g wiaure= faar ur?
1. Ta e
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Options:

64535097847, 1
64535037348, 2
E4E350397249. 2
4535097850 4

Question Number : 129 Question Id : 64635024931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1s the international forum for all Chnistian denomnations to come together?
1. NCCI
2. WEE
3.  Vatican Council

4. CBCI
Options:
64535097351 1
E4E25037852. 2
E4B25037853. 3
64535037854 4

Question Number : 129 Question Id : 64635024931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535097851, 1
48350973852 2
4535097852 2
64535027854, 4

Question Number : 130 Question Id : 64635024932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which year was the Church of India formed?

1. 1947
2. 1930
3. 1970
4, 1948

Options:
64535097555 1

E4E35037 856, 2
EAE35037857. 3
E4E35097858. 4

Question Number : 130 Question Id : 64635024932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 3 Sfear &1 forg adf # ma= f5am man yre
L. 1947
2 1950
3 1970

4. 1948

Options:

64535097855, 1
64535037856, 2
645350373857, 2
E4E350397858. 4

Question Number : 131 Question Id : 64635024933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The founder of the Chishtiyya Sufi order was :
1.  Abu Ishaq Misn
2. Khwaja Moinuddin Chisti
3. Shaikh Salim Chishti

4. Khwaja Bagi Billah

Options:
E4E35037 559,

1
E4E35037860. 2
EAE35037861. 3
EAE35097862. 4

Question Number : 131 Question Id : 64635024933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FfSaan gt ra= & SRS S U°
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Options:

64535097859, 1
64535037860, 2
645350373861, 2
E4E35037862. 4

Question Number : 132 Question Id : 64635024934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The title of “Father of Arab Philosophy” was given to :
1. Ibn Sina
2. Al-Mawardi
3.  Al-Ghazali

4. Al-Kindi

Options:



EAE35097863. 1
64535037864, 2
64535037865, 3
64535037866, 4

Question Number : 132 Question Id : 64635024934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘3R T & fOamHe” & ued! fod & 7% i
1.  ggdEA
2. @At
3. d-Tre
4. 3g-foe=dl
Options:

64535097862, 1
64535097864, 2
E4E35037865. 3
EAE35037866. 4

Question Number : 133 Question Id : 64635024935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

‘Dirayat’ 1s the methodology of the scrutiny of Hadith on the basis of :

1.  narrators of Hadith

!'-.J

place of narration of Hadith
3.  compilers of the Hadith

4. rationality of the text of Hadith

Options:

64535097867, 1
645350373868, 2
4835037869, 2
64535097370, 4

Question Number : 133 Question Id : 64635024935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097867, 1
64535037868, 2
64535037869, 2
E4E35097E70. 4

Question Number : 134 Question 1d : 64635024936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Mutazili scholar whose discourse resulted in the emergence of Asharism was
1. Alial-Jubbai
2. Wasil bin Ata
3. Amr bin Ubaid

4. Hasan al-Basn

Options:

4535097571, 1
4535097872 2
64535037873, 2
64535037874, 4

Question Number : 134 Question 1d : 64635024936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535097571, 1
E4E3E5037E72. 2
E4E3E097872. 2
4535097874, 4

Question Number : 135 Question Id : 64635024937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The philosophical masterpiece “Hayy Ibn Yaqzan’ has been written by :

1., Ibn Bajjah
2. Al-Ghazah
3. Al-Farab

4. Ibn Tufayl

Options:

64535097875, 1
64535037876, 2
E4E3E5097E77. 2
E4E3E5097878. 4

Question Number : 135 Question Id : 64635024937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T IEPE Pia ‘82 59 THeT 57H 9 e g et i 27

1. sSgdeTe
2. G-I
3. F-BRE

4.  FEghd

Options:

64535097875, 1
64535037876, 2
64535037877, 2
E4E35097878. 4

Question Number : 136 Question Id : 64635024938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Split between Sunni and Shia Muslims began with the disagreement over :
1.  the choice of Caliph
2. acceptance of the Hadith

3. Battle of Karbala

4. pilgrimage to Makka

Options:

64535097579, 1
64535037880, 2
E4E35097881. 2
E4E35097882. 4

Question Number : 136 Question Id : 64635024938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gl ud R giers & 9 srama Fofufed 3 9 g sragafa & SR ganr
1. Wl o1 9a
). e B e
3. oEd S1gE

4.  HIPT B arfEEn

Options:

64635097379, 1
48350978280, 2
64535097381, 5
64535097882, 4

Question Number : 137 Question Id : 64635024939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Amongst the following Sufis the one who upheld ‘Ishraaq’ was :
1.  Shihabuddin Suhraward
2. Najm al-Din Nagshbandi
3. Abu Ishaq Sham

4. Abd al-Qadir Jilam



Options:

64535097883, 1
E4E35097884. 2
4535097885 2
645350978586, 4

Question Number : 137 Question Id : 64635024939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

= gfteal § 9§ fbeies BT 'SIRTe 1 gfp 1 s i
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3. YW TH
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Options:

64535097883, 1
64535037884, 2
64535037885, o
E4E350978586. 4

Question Number : 138 Question Id : 64635024940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The propounder of the notion of “Wahdat al-Shuhud” was :

o

a Qadiriyya Sufi

2.  a Chishtiyya Sufi

3.  a Nagshbandiyya Sufi
4. a Mevlaviyya Sufi

Options:

64535097887, 1
64535037888, 2
E4E35097889. 2
4535097290, 4

Question Number : 138 Question Id : 64635024940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097887, 1
64535037888, 2
64535037889, 2
48350397290, 4

Question Number : 139 Question Id : 64635024941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not part of ‘Figh’?
1. Istihsan

2. Maslaha Mursal

=

Istiglal

4. Tjtihad

Options:

4535097591, 1
4535097892, 2
64535037893 2
64535037594, 4

Question Number : 139 Question 1d : 64635024941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fofeed # @ o1F-91 ' fihee’ &1y = 82
1. sf&EEE
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3. sfeaa

4. TR

Options:

]



E4E35097891. 1
B4E535097882. 2
64535097833, 3
645350375834, 4

Question Number : 140 Question Id : 64635024942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In pre-Islamic Arabia the word “Kahin® was used for :

1. asoothsayer
2. Goddess of faith

3.  the queen of Mecca

4. an angel
Options:
64635097895, 1
64635097896, 2
64635097897, 3
64635097393, 4

Question Number : 140 Question 1d : 64635024942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Td-sihe 3R § ‘Sife Ieg &1 v foges fog fosar srar ar?

1. Us Yidsaaadn
2. fFmistdd
3. Hohl DI Al

4, USaagd

Options:

64835097395, 1
E4E35097896. 2
64535027897, o
4535097898, 4

Question Number : 141 Question Id : 64635024943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following was NOT a contemporary of Guru Nanak?

—

Mirja Kamran
Z. Daulat Khan Lodhi
3. [bralum Khan Lodh

4. Emperor Akbar

Options:

64535097599, 1
64535037300, 2
4835097301, 2
4535097302, 4

Question Number : 141 Question Id : 64635024943 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

0 A BIF T THE S GHSTE Tl U?
1. foetesmE
2. Srod @l at
3. golifeH @M i

4. SRR AHE

Options:

4535097599, 1
64535097200, 2
64535037301, =
64535037302, 4

Question Number : 142 Question 1d : 64635024944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When was the Quid centenary of the first installation of Sikh scripture celebrated?

1. 2004
2. 2008
3. 2010
4. 2014

Options:



E4E350973903. 1
64535037304, 2
64535037305, 3
64535037306, 4

Question Number : 142 Question Id : 64635024944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R yHuy &t Wt ot 494 Taeet o9 7915 Tt o6

1. 2004
2. 2008
3. 2010
4. 2014

Options:

64535097303, 1
64535037304, 2
E4E35097305. 2
E4E35097306. 4

Question Number : 143 Question Id : 64635024945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT included in the Dasam Granth?

1. Chandi di Var

o]

Ramavtar

3. Zafamama

4.  Tankhahnama

Options:

64535097907, 1
64535037308, 2
64535037309, 2
E4E35097310. 4

Question Number : 143 Question Id : 64635024945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. TSI aR
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3. WG
4. TEERAH

Options:
E4E350375907. 1

E4E35037308. 2
E4E35037303. 3
BAE350973910. 4

Question Number : 144 Question Id : 64635024946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

From which place Guru Nanak had set out to preach his mmssion?
1.  Nankana Sahib
2. Sultanpur Lodhi
3. Batala

4.  Kartarpur

Options:

64635097911, 1
E4E35097912. 2
64535097912 5
64535097914, 4

Question Number : 144 Question Id : 64635024946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

39+ T &1 TR &3 & O TR g ®= 9 W@HTgu 47
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Options:

64535097911, 1
4835097912 2
4535097312 2
64535027914, 4

Question Number : 145 Question Id : 64635024947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[dentify the correct statement :
1. Mission of the Khalsa was to fight against the Muslims.
2. Mission of the Khalsa was to stop the spread of Islam.
3. Mission of Khalsa was to defend the Righteous.

4. Khalsa believed in forcible conversion of people into Sikhism.

Options:

64535097915, 1
64535037316, 2
4835097917, 2
4535097318 4

Question Number : 145 Question Id : 64635024947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el HYF @1 U IO :
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Options:

64535097915, 1
64535097916, 2
64535037317, 2
64535037315, 4

Question Number : 146 Question 1d : 64635024948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What do you mean by Miri-Piri?
1. Religion and politics cannot go together
2. Politics holds supremacy over the religion
3.  Religious person cannot indulge in politics

4. There is no dichotomy between the temporal and the spiritual

Options:

64535097919, 1
64535037320, 2
4835097921, 2
E4E35097322. 4

Question Number : 146 Question Id : 64635024948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forfe-foRk & amues @ ared 27
1. ¥ ud Uoifa voam 8l =d d
2. o, oH ¥ FW B
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4. TS Ul nentiaremdr | ®1s iy 8 8
Options:
64635097919, 1
E4E35097320. 2
64535097921, 5
4535097922, 4

Question Number : 147 Question Id : 64635024949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Sikh world-view does not bother about

p—

day-to-day life
2. social order
3.  ecological balance

4. other worldliness

Options:



BAE35097923. 1
6435097924, 2
64535097925, 3
64535097326, 4

Question Number : 147 Question Id : 64635024949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535097923, 1
64535097924, 2
64535037325, 2
64535037326, 4

Question Number : 148 Question 1d : 64635024950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is a chronic disease according to Sikhism?

I, Masands
2. Malechhas
3. Minas

4.  Haumai
Options:
46350979271
64635097925, 2
64535097929, 3
E4de35097930. 4

Question Number : 148 Question Id : 64635024950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3.
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4. gaw
Options:

BAE35097927. 1
64535097928, 2
64535097929, 3
64535097330, 4

Question Number : 149 Question Id : 64635024951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct chronological order of the following :
1.  Puratan Janamsakhi, Mahima Prakash, Gur Sobha, Panth Prakash
2. Panth Prakash, Malima Prakash, Gur Sobha, Puratan Janamsakhi
3.  Mahlima Prakash Panth Prakash Puratan Janamsakhi, Gur Sobha

4.  Gur Sobha, Puratan Janamsakhi, Panth Prakash, Malima Prakash

Options:

64535097931, 1
4835097932 2
4535097322 2
64535037924, 4

Question Number : 149 Question Id : 64635024951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. TR G, R SFEEET Oy W, AfHT YT

Options:



E4E35097921. 1
BAE35097932. 2
64535097923, 3
645350397924, 4

Question Number : 150 Question Id : 64635024952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-I List—II
(a) Bam Beora (1) Sahib Singh
(b) Adi Bir Bare (11) Charan Singh
(¢) Gurmat Martand (111) Kapur Singh
(d) Sachi Sakhi (1v) Kahn Singh Nabha

Choose the correct option from those given below :
1. (@-(v); (©-11); (d)-Gii), (D)
2. (a)yi); (b)—1); (e)-{iv); (d)-(ii1)
3. (b)-u); (d)H1); (@)Hin); (e)—1v)
4. (d)Hw); (c)-1); (b)-(v); (a)—(111)

Options:

64535097935, 1
64535037336, 2
E4E35097327. 2
64535097928, 4

Question Number : 150 Question Id : 64635024952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535097935, 1
64535037336, 2
4835097927, 2
4535097328 4

(a)-(v); (c)~(u); (d)—(u1); (b)~(1)
2. (a-@); (®)-0); (©-v); (D)
3. (b)-m); (d)H1); (a)-1); (¢)-v)
4. (@-); (©)H1); (b)1v); (a)—{11)
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